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>>>
8
>>>
15
>>>
12
>>>
1.5
>>>
1
>>>
100
>>>

6

>>>

3,

(bs | ~— (b5 s
BRNGCHEE

3 +5

(3 +5) *2 -14# (FHESHEEEZEMNTH
3+5*2 -1

6/ 4

6 // 4 # Eff, EFBANNEED
10 ** 2 # BizE
36 % 10 # KFRIZE

divmod(36, 10) # ERITEFIIRE
6)

& 6, 6)fihtd, TABELNEESILA

T
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MEHRATHREOKRNKR, £
TrueiR KR AR, FalseRTRERAR

>> 3 < 5

True

>> 3 > 5

False
>>> 3
False
>>> 3
True
>>> 3
True
>>> 3
True

<=

>=

5 # MA3RERFT5

5 # {32 EAEF-
5

3
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2 N Trueak B

=False



Ta R A

o THERMNER -

>>> 3.14 * (1 ** 2)
3.14

>>>

>>> 3,14 * (10 ** 2)
314.0

e MEGEM=KEEHZF2E (TE2EETE=PEFMHE)
>>> pil = 3.14 # pig—"1"T=E, YEFNE3.14
>>> pl1 * (1 ** 2)

3.14
>>> p1 * (10 ** 2)
314.0




Ta R A

s MEEM=-REa4E2E
o Bl—1EEHPERIER[LIAE

>>> pl = 3.14

>>> radius = 1 # F12

>>> pi * (radius ** 2) # EEFH

3.14

>>>

>>> radius = 10 # T=radiusffERHS—1MELO
>>> pi * radius ** 2 # **WLEBsT*
314.0




L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

>>> a = 3

- REGHTEERMEINES, KEW v idcay
TEagATHR3 4431898000

>>> b = 3
e a+2f)BA5, Q-1 %R (EL(5) >>> id(b)

4431898000
o T E=bKELEIXFNHRS >>> b =a + 2

>>> b

5

>>> 1d(b)

4431898064

>>> 1d(5)

4431898064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

o >>> a = 3

- BMEGHTEERMEINES, KEW  oon idca
LeEag|BATHE3 4431898000
>>> b = 3

e a+2B)(EA5, GE—THR (E5) >>> 1d(b)
4431898000

o XL EbLELEIXFRS >>> b =a + 2

>>> b

5
- >>> 1d(b)

4431898064
>>> 1d(5)
4431898064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

o >>> a = 3
- BMEGHTEERMEINES, KEW  oon idca
LeEag|BATHE3 4431898000
>>> b = 3
e a+280B A5, QIZE—"1TX%R (EZX5) >>> 1d(b)
4431898000
o L EbRELEIXTHRS >>> b =a + 2
>>> b
5

. - >>> 1d(b)

4431898064
>>> 1d(5)
4431898064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

o >>> a = 3
- BMEGHTEERMEINES, KEW  oon idca
LeEag|BATHE3 4431898000
>>> b = 3
e a+280B A5, QIZE—"1TX%R (EZX5) >>> 1d(b)
4431898000
o L EbRELEIXTHRS >>> b =a + 2
>>> b
5

. - >>> 1d(b)

4431898064
>>> 1d(5)
4431898064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




L= MRMA[F

o BIE—IHR (B53) , 0E—TEBa  Liais05000
. >>> a = 3
.« MEGHTETEHRINES, KER  —os idcay
TEagATHR3 4431898000
>> b = 3
e a+2f)BA5, Q-1 %R (EL(5) >>> id(b)
4431898000
o XL EbKREKRBFTRS5 >>>b =a + 2
>>> b
5
: - >>> 1d(b)
44318980064
b >>> 1d(5)
44318980064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L



L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

>>> a = 3
- REGHTEERMEINES, KEW v idcay
TEagATHR3 4431898000
>> b = 3
e a+2f)BA5, Q-1 %R (EL(5) >>> id(b)
4431898000
o T E=bKELEIXFNHRS >>b =a + 2
>>> b
5
>>> 1d(b)
4431898064
b >>> 1d(5)
4431898064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

>>> ad = 3
e WEGHEMIRREaBEEIXNRI, XA 55 id(a)
TEagATXR3 4431898000
>> b = 3
e a+2f)BA5, Q-1 %R (EL(5) >>> id(b)
4431898000
o XL EbKREKRBFTRS5 >>>b =a + 2
>>> b
5
>>> 1d(b)
4431898004

b - >>> 1d(5)

4431898064
&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




L= MRMA[F

. BIE—AHR (EH3) , OE—1BEa  rrarsesaen
>>> ad = 3
e MECHEMREEaBERNR3, KB o id(a)
Teaq|AHTHR3 4431898000
>>> b = 3
e a+2B){EA5, QIE—TH%R (EZ(5) >>> 1d(b)
4431898000
o BT EbKRELRINRS >>b =a + 2
>>> b

4431898064
>>> 1d(5)
4431898064

&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L

5
- >>> 1d(b)
s




L= MRMA[F

y Ea >>> 1d(3)
o ORE—THR (BE3) , GE—1TT&E2a 4431803000

>>> ad = 3
e WEGHEMIRREaBEEIXNRI, XA 55 id(a)
TEagATXR3 4431898000
>> b = 3
e a+2f)BA5, Q-1 %R (EL(5) >>> id(b)
4431898000
o XL EbKREKRBFTRS5 >>>b =a + 2
>>> b
5
>>> 1d(b)
4431898004

-8
- >>> 1d(5)

4431898064
&9 WEARBEERREIIFIAN, FECPythons, FESISIERTZHA L




X|BAmathfZi #1782 2N 2 E
2R

. 1

7010 sin(2x) = 2 sin(x)cos(x), x
S Amathi&Ei

Y}

2l

>>> 1mport math #

.

k

>>> X = math.pi / 6 # {EAmathiZRPE NP1 TR
>>> math.sin(2 * x) # {FAmathi&ERFPEIsinEREN

0.8660254037844386
>>> 2 * math.sin(x)
0.86060254037844386

arc length
equal to
radius

* math.cos(x)

one radian

radius

8w 4w
6 °' 3

(o]

270°
or 3w =g~
60r2 6 6

@ mathiEIRINE 2 A EF S Ehttps://docs.python.org/3/library/math.html



https://docs.python.org/3/library/math.html

W% X dir

e dir(obj) : 2R [ElobjR[E

>>> dir(math)

['__doc__", "__f1ile loader__ , name__ ,
'__package__"', '__spec__"', 'acos' acosh', 'asin'
, 'asinh', 'atan', 'atanl', 'atanh', 'ceil', 'copy
sign', 'cos', 'cosh', 'degrees', 'e', 'erf', 'erfc
', 'exp', 'expml', 'fabs', 'factorial', 'floor',
fmod', 'frexp', 'fsum', 'gamma', 'gcd', "hypot',
inf', "isclose', 'isfinite', 'isinf', 'isnan', 'ld
exp', 'lgamma’', 'log', 'logl@', 'loglp', 'log2', '
modf', 'nan', 'pi', 'pow', 'radians', 'sin', 'sinh
', 'sgrt', 'tan', 'tanh', "tau', 'trunc']

——a

10



W%u ZX help

e help(obj) : R [ElobjBYEE AN E B

>>> help(math.factorial)
Help on built-in function factorial in module math:

factorial(...)
factorial(x) -> Integral

Find x!. Raise a ValueError if x 1s negative or
non-integral.

>>> help(math.sqgrt)
Help on built-in function sqrt in module math:

sgrt(...)
sgrt(x)

Return the square root of x

11



Four Fours

* FRAT410E0-50 2 [BIRNPMAEE, NIRRT IIE
=00y R k. BR O (EHEEPRR) - FAS FAR. B
. SRR

o K10, 2.0XHMHth HEL

>>> 44 / 44

1.0

>>4 /4 + 4 /4

2.0

>>> 4 / 4 + 4/ 4 # AFEFSE0.4

11.0

>>> from math import sqrt, factorial #E=—FESAHI
>>> (sgqrt(4) + factorial(4)) / sqrt(4) + factorial(4)
37.0

12



o ERRS| SN SR AR FHRI, FARLEXR

>>> name = 'Python' # BE5|S

>>> year = "2019" # W3|5
>>> name

'Python’

>>> year

2019

>>> len(hame) # lenX#R[o

6

>>> name + year # +EEMTERS
'Python2019'

>>> year * 3 # *EEFRSH,
'201920192019"

& EHHLLM A HTRENNS (B,

/\ =0 fehy

FRBHIK

i

XEEE3IR

FIFE

5) BEARNZ X!

13



o S[i|ZFFBSHNARITFEF, RIlBBICTEAMOZ|len(S)-1
>>> name[0]
P P y t h o) n
>>> name[1] ; ; ; ; ;
5 A~ _
77 namels] @ HHAFMFEES?

>>> name[6]
Traceback (most recent call last):
File "<pyshell#542>", line 1, 1n <module>
name[ 6]
IndexError: string index out of range

@ 1972F [E| R R IR1SEEdsger W. DijkstralJfiZFF
oA http://www.cs.utexas.edu/users/EWD/transcriptions/EWD08xx/EWD831.html



http://www.cs.utexas.edu/users/EWD/transcriptions/EWD08xx/EWD831.html

R FIGPRERFFEN—87n, MBITFETE, 2%
TEAZBER (TNERFBITER) . REPHNKER]-
H | P v t h o n 2 0 1 9

>>> msg = 'H1'" + + hame + year
>>> MSQ

"H1 Python2019'

>>> msg[0:2]

| | H.i- L

>>> msg[3:9]

'Python’

>>> msg[9:13] # ERIIAEFEEAEIR
'2019"

15



nE®REPalE L TR

o BHALRBPHEN—H9, KBRS, S5
S HORGR (R . BEANEE R

« BWFTIRE—TFHER (AERE—D)

>>> name[0:2]

'Pyl

>>> name[2:6]
"thon'

>>> name[ :2]
'Py'

>>> name[2: ]
"thon’

>>> name[:1] + name[1l:]
'Python’
>>> name[ :2] + name[2:]
'Python’
>>> namel[:3] + name[3:]
'Python’

16



o FHOIMUBK—TRE, @E—THA, BIRE—TE

WA (BH) | st

A

2R [El1E)

>>> def f(X): # EXRE, FERRER, XS
return 3 * x + 1 # 3*x+12:REO1E

>>> f(0) # FARKRE, FEOHLEZSEX, REOMEEL
1

>>> (1) # BRXERARE, KELESZSEHAX, ROMESE4S

HNF—1THAx, HEPRIEENINSE E—REN T
HNF—THAX, FEFHNRIE (8XEAH) AJRGRE (fiH) AEE

17



# 5

>>> def f(X): # EXRE, FRRERA, xZ2TH
return 3 * x + 1 # 3*x+12REM1HE

>>> f(0) # HABXRE, KEOMHLAZE X, REMEREL
1
>>> f(1) # BRARBKRE, BELHZEZSEX, ROEES

AEFdefRRRNE XTI, HERBZE XA
ZHNERNBRENESN, RENESTAIRD
85 NANERES L (Eeel— 1 6FR)

return BOIRAEHFLEHTT, FHREREIS

)
OH]
Dy




[B]—%i N\ 7~ [ ¥l & B 12X

>>> 1mport random
>>> help(random.random)
Help on built-in function random:

random(...) method of random.Random instance
random() -> x in the interval [0, 1).

>>> def g(x):
return X + random.random()

>>> g(1)
1.2454783285671198

>>> g(1)
1.1145206261271141

@ randomiEIREIE Z A EF S Ehttps://docs.python.org/3/library/random.html 19
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=XCE M TGN IEES

o HIPILLBEB/ZTEN BEEZTHN

o RE K2 perfect square, SR 1L xFy, REIAE
x% 4+ 2xy + y?

1 perfect_square(x, y):

2 total = X %% 2

3 total = total + 2 % X *x y
4 total = total + y *x 2

5 total

>>> perfect_square(4, 6)
100

>>> perfect_square(19, 41)
3600



KRR EIZHIR

FT—TRER, —KRERTNXEBaZINFHT

1
N
Ul
=\
)
Bl

m
)

1def perfect_square(x, y):
2 total = X %%k 2
3 total = total + 2 *x X *x y
4 total = total + y *x 2
5 total
287 9 SR B P L 1B ) T B — A iR

\\

SRANEREREZ VD EB,
BN 1T HIRFEA4T DS, BARESE

ARRIEFEREARNECIE T B — 1T MER




® O = problem.py

<) problem.py

1 def perfect_square(x, y):

total X 2

total total

total total Yy
total

[ Line 9, Column 5 UTF-8 Tab Size: 4 Python

£33 — -bash — 52x7

AndeMacBook Pro-3:£ 8 ryan$ python problem.py
File "problem.py", line 3
total — toral + 2 k ¥ ¥ V

7\

IndentationError: unindent does not match any outer

indentation level .
AndeMacBook-Pro-3:{X 3 ryan$ |

B2TRHANZE—THIRST, FE3-5THNRINTZIR
EABIRGHZ= ZRFIT EHIE!




2R R

o MTEP—TIERL WREZTI, XMEFE3IBMI, 2
R =B MERRM2, tt@Eif, mBRaPaeasEFa|

/r\'[l
T W

13 40 20 10 5 16 8 4 2 1

e BE— L collatz, FES— P IEEEN

e NNENESFE, BREI3*n+1 : return 3*n + 1

e NEnZ{BEL, &[EIN//2 : returnn//2

o WAL AER R R M THIT 7

23



PRI SESERECE

o LBAERERG T

e if condition + B & + K82 (B4R )

I1x =1

21f condition: - S NGI
3 #code block

4 #code block

oy =1

2 217 condition R, HITIfD MBI E (L
0 Z3-417) , HITRERRTIIEHGEcEEENE. (L
2 ch 28 517)

o TNERFMITfN IR EER (EETRE341T) . BER
MiTifRE B RENEL (LB ZHA51T)

K
ﬁl
53

o 1
3

n \lm

24



if- else—r-f’illlﬁ”'l

—‘

e if condition + §

else + BB + T’KEQ;EQ (22

Ix =1

21T condition:
3 #code block a

o T‘ cQr"
| - = L:" e R

5 #code block b

1

oy

o Y1ERFE21T7PBcondition AN B, HIITIfA 3 BN AG 1R,
HiTRERATIIEHECR

o GNE#HZHOT I SIATBIR G a, HiTTelsen
BiRb, SREHITIEHFECIRTE

5 + AR (REGH)

2 o ot

——

h B 55

BNEa (EE

B9Ea) (LE

& 5

= B
T x>

H61T)

RS A SHAN
A 61T)




I FAZ 1B )52 I 2 fi gz KX

. QDE:( zrs**i’]

3*n+1,

SR EIN//2

def collatz(n)

1f -

return 3 * n + 1

return n // 2

20



s E5184] =

B1Ee 5%

7T+ 85 + (ER (FEdGA)

o defifa] (& X &)

ldef perfe
2 total =
3 total
4
5

total

ct_square(x, y):

X Xk 2

total + 2 *x X % y
total + y *x 2

'n total

o X1E0 (RIGEREHITHRZERE )

e colla

OB WNBE

% 2 =

tz(n)

',__,|3*n+1

.JJ n// 2

27



ldef collatz(n):
1T n%s 2 == 1:
return 3 x n + 1

else:
return n // 2

o defiBh] : BITLI, KA (AH—Pif-elseR4iT6), BB
faitt, EEL24A% FLIBIME)

o if-elsefXft1Ba) : HZ 1 ETT(L2H0L4), REHEBRG A
e BTT2 (f7XR) , RERAAFER3, FEME, F2
L33t F L2 &

e B1T4 (elsen’R) , MERRRAEDS, HREdM,
RSN FTURNNUE

IR L3R T4 BIRIAER, PriA9edt ol LA7 Gl

OB WN

I

\
(I



1def func_show_indent():

e defiBa]1 :

Zadt, ETRBBM4E—1ESEA

—
—

- E5TEAI4
HARIRZE

e 851846 :

2 s = 'block a'

3 X =1

4 1T X % 2 ==

5 y = 2

6 1Ty %s2=1:

7 s = 'block c'
38 s = '"block b’

9 return s

REREEER2. 3. 4 9, EMNERABRER

174, KEREEEE5. 61 8, Ef1ER
, ARBOIGXZ—TEREA

176, RERER\EFAT7

29



T

Floor Caeil
>>> math
>>> math.floor(3.14)
3

>>> math.cei1l(3.14)
4

30



if-elif-elseZZ {1214

. 1NIFNE, BRABKEMeifAE (B1F0D) , BRID
HEONelseN T, EINRE—PHEHKBHR

o M EMRTRRAEIFEG, WEAE, HITH AR,
ST~ —1 %

Ldef my_floor(x): . o
2 1T x < 0: al N
3 return math.floor(x)

4 elif x < 1: #0 <= x <1 ° t—

5 return 0 1 * -
6 lif x <2: #1 <=X<2 2. e 0 -
7/ return 1 sle o .
3 : # X >= 2 R
9 eturn math.floor(x) R

31



a
b

=~ WN =

>>> magic('hello’,

‘ellon’

S e[LAZE T e[l ZFABEFH

Mmagic R £ B A (T 2 HFRITNEE 7

_ maglc(flrst, second) :

first[1:]
second[len(second) - 1]
ra + b

"python’)

32



ta] 52 5K A0

s RE—TEH, HW—TIEENN, R[E

S=1+4+2++n

e S=14+2+--+n=nn+1)/2

>>> - sum_of_n(n):
nn* (n+tl) // 2

>>> sum_of_n(5)
15

>>>

>>> sum_of_n(100)
5050

1~-nBO %D

33



£

e ME— T, HW—TIEEZn, R&ETN
S=124+22+ - +n?

, nm+D(2Zn+1)
- 6

« S=124224 .. 41

>>> def sum_of_n2(n):
n n*(n+1)*(2*n+1) // ©

>>> sum_of_n2(3)
14

>>>

>>> sum_of_n2(100)
338350

l']’\'
\—

AR

34



/l\—l‘”é@a‘éf]éi?-ﬂl

e BE—TEE, #HIW—1TEI REIEDTM. T{uFD
£ B9F0

>>>

>>>

>>>

>>>

- sum_of_one_ten_hund(n):
ones = n% 10

n=n// 10
tens = n % 10
n=n// 10

hunds = n % 10
- ones + tens + hunds

sum_of_one_ten_hund(123)
sum_of_one_ten_hund(12)

sum_of_one_ten_hund(1234)

35



=R

* WE—TEE, HW2TIEELmADn, 20E

o
o —/ P EELNRE

/1Y

WA PEEEPR, RREITrue, &EN&[E]IFalse
>>> def one_divide_another(m, n):
Fm%n==20:
Fn%m==20:

11l 11T UK

>>> one_divide_another(5, 3)
False

>>> one_divide_another(5, 30)
True



IS

o PRI H) =1+1/2+1/3+ -+ 1/n

5 _
4
AN =]
3 Iy =
~
c
I
2 -
1
O | | 1 I | | | | | | |
0 10 20 30 40 50

% H(n)
% log,(n)

37



Rk

o PRI H) =1+1/2+1/3+ -+ 1/n

* BE—THH, BZ—1TEEI n REIEFE H0N)

e YN n < 100, B E L harmonic_smalliTtE H(n)

e Y12 n> =100, RE FAL{harmonic_largeit&EH(n), 1%
FEERTEANENU AT ITE

e H(n) = log,(n) +y+ 1/(2n) — 1/(12n2) + 1/(120n*)

Hrh y = 0.577215664901532 #R A BRI & 5]

38



BEANEIHn) =1+ 1/2+1/3+ -+ 1/n

e K i{harmonic small( )B{2If

>>> def harmonic_small(n):
total = 0 # FRH(N)RYE
for i in range(1, n+1): # iffxZEF1,2,...,n
total = total + 1 / i # EBIM1/1it ANEF]F
return total

o foriialttZ8 810, EXMNMIRERETA?

o foriBalAKREE MTEN AR

>>> harmonic_small(2)
1.5

>>> harmonic_small(3)
1.8333333333333333
>>> harmonic_small(4)
2.083333333333333

JIUN




BEANEIHn) =1+ 1/2+1/3+ -+ 1/n

e F%{harmonic_large( )BYS2IR
H(n) = log (n) +y + 1/(2n) — 1/(12n%) + 1/(120n%)

>>> 1mport math
>>>
>>> def harmonic_large(n):
gamma = 0.577215664901532
return (math.log(n, math.e)
+ gamma
+1/ (2 * n)
-1/ (12 * n ** 2)
+ 1 / (120 * math.pow(n, 4))
)

& HBARE)DR, MAUBHSIT

40



BEANEIHn) =1+ 1/2+1/3+ -+ 1/n

e Fzxharmonic:X BB ITEH H(n)

o R n NANERTBINRZCRITE Hn)

>>> def harmonic(n):
Lf n < 100:
return harmonic_small(n)
else:
return harmonic_large(n)

>>> harmonic(10000)
9.787606036044382

>>>

>>> harmonic_small(10000)
9.787606036044348

41



gcdADlcm

B AR HN%EN (ged, greatest common divisor) : 1%

B—1, tclged(12, 18)=6

=

BN EEX (lem, least common multiple) : $

|

Y|

ShEEy e

Sk

—1 (0BRSh) . ttallem(12, 18)=36

mathf2 IR h1EH T gcd iR X

>>> help(math.gcd)

Help on built-in function gcd in module math:

gcd(...)
gcd(x, y) -> 1int

greatest common divisor of x and y

WE— 1T EH B TEN B

(]

EA18em

7 B

42



{®FgcdKklcm

12=2?x3l 18=21%x32 6=2'x3! 36=2%x3?

2a p ><p e X ik b=p1bl><p§2>< ...prk, ABL.H
e gC d(a,b) = mm(a1 b,) X pmln(a2 ,b,) X eee X plznin(ak,bk)
e Icm(a,b) = max(al bi) pmax(a2 D) se i p;naX(ak,bk)
=3 >>> ~lecmCa, b):
= a * b // math.gcd(a, b)
e aXb= pa1+b1 X - Xpak+bk

e gcd(a,b) X Ilcm(a,b) = mm(“l bptmax(apb) v .., w pmln(ak by)+max(a.b;)

mx + y = min(x, y) + max(x, y), Bflla X b = gcd(a, b) X lcm(a, b)

43



